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(1) f(z,y) =2’ +y*> — 3y DL Z,
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fo(,y) = (2% +y° = 3zy),
TR FHE O 1E 4+, — THTTEIVRS
= (2%)2 + ()2 — (32Y).
Y3, 3y RERE BT h s (), DIMTH LTI WA S

= (%), +¥*(1)s — 3y(2)s = 322 +y*- 0 — 3y - 1
=322 +0—3y =322 — 3y
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fylz,y) = (2° +y° = 3ay),

RMAEE (), 1+, — THTTIRS

= (2°)y + (v°)y — (3zy),
2, 30 WY RATHS (), DSMTH LT EWHS

= 2°(1)y + (y°)y — 32(y)y = 27 - 0+ 3y” — 3z - 1
=043y — 3z =3y> -3z

(2) f(z,y) = cos(3x — 2y)
cos(3x — 2y) & cos x(3x — 2y) TIERWP S {cos(3x — 2y)}, %
cos{(3x — 2y),}, —sin{(3z —2y),}
RELUTIRZ S0, sin BN LB ZMD T 5 & &1 (sint), = cost &
7 < TRRS .
FFULKED &, 3x—2y=t&BL &z =rcos(3x—2y) l& 2z =cost & t = 3z—2y
D& BRI 72 % D2 & GBI DD k2 fi > T
f:c(xay) = (COSt>t X 1y
= (cost)y X (3 — 2y),
= —sint x 3 = —3sin(3z — 2y).
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fy(@,y) = (cost)y x t,
= (cost), x (3z — 2y),
= —sint x (—2) = 2sin(3z — 2y)

(3) flz,y) =€
ry =t & BWTEHRBEBROM D iEZMH S

fo(z,y) = <€t>t Xty
= () x (2Y)a
=e' xy=ye”

(4) f(z,y) = €™ cos(3x — 2y)
STz DDEE e & cos(3x — 2y) DEE ATHOMDEZMES.

fo(z,y) = (e™), cos(3z — 2y) + €™ (cos(3z — 2y)),
(2), (3)IT&D

= ye™ cos(3x — 2y) — 3™ sin(3z — 2y)
= e™(ycos(3z — 2y) — 3sin(3z — 2y))
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fy(x,y) = ("), cos(3x — 2y) + €™ (cos(3x — 2y)),
(2), (3) 1L &Y

= ze™ cos(3r — 2y) + 2¢™ sin(3z — 2y)
= €™ (z cos(3x — 2y) + 2sin(3z — 2y))

(5) f(z,y) =3z +y—2

(¥)z =0, (3z), =0 ITHEELT



Jo—(2a=3+0-0=3
Jy—(2)y =0+1-0=1

fo(r,y) = Br 4y —2)p = (32)2 + (
fy(z,y) = (Br+y— 2)y = (35”)1/ + (

L o=

(6) f(z,y) = 3z +y —2)°

z=f(z,y),t=3x4+y—2 &BL &,

z=flr,y) Fz=1° t=3x+y—2
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folmy) = 2o =z X t, = () x Bz +y —2), =N x 3=27(3z +y — 2)®
folmy) =z =2 xt, = ")y x Bz +y—2), =9 x1=93z+y—2)8

(7) flz,y) = 22° — 3zy + 2y°

(3zy)s = 3y, Bzy), = 3z,

(2%), = 0, (222), = 0 ITHEFEL T

fe(z,y) = (22° = 3wy + 2y%), = (220%), — (32y)s + (29%). = 42 — 3y
fyla,y) = (2% = 3wy + 24°), = (22%), — (Bwy), + (29%), = —3v + 4y

(8) flz,y) = /22> — 3zy + 2°

z= f(z,y),t =222 = 3oy + 2y £ H< &,
z= f(z,y) &z = Vt, t =22 — 3oy + 2y?
DEMBEBTH 206, GREBOMTIEIZLD
folm,y) = 22 = 20 X tp = (V1),(22% — 3wy + 2%), = ﬁ X (4 — 3y)
dxr — 3y
B 24/222 — 3y + 21>
fy(,y) = 2, = 2 x t, = (V1):(22% — 32y + 2¢2), = ﬁ X (—3z + 4y)
B -3z + 4y
2¢/22% — 3xy + 242




